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R 3.

Q) &
double x = 1.1; // 5% 5i7=double fi, & 5% double fEIZXETESZ &
if ( x >= 0 ) System.out.printin( x );
else System.out.printin( - x );

2) REE (AfFXO7 Yy 72T 5RT)

if (c=="y" ) { .
System.out.printIn("iZ\, ZO@EY TH, ");

}else if (¢ == *n" {
System.out.printIn("\ 2, EWET, );
}else {

if ( c == "x" ) System.out.printin("b»v FtAi, ");
System.out.printIn("% 9 —ERBEWLET, ");
}
(3) boolean b;

(C))
X" L X true A A
Y*DL X true Y Y
*Z"hLtx: false Z Z

[ 4.

€Y

(7) Int ans = 0;
() i <=n

(7) i++

(=) ans += 1 * i
() ans

(@) ==t
int i = 1;
while (1 <=n) {
ans += 1 * i;
i++;

}

(3) fiEE A

/77 X(-DMNK-D)*1/K 2R TS, log(x+1) % x=1 THEVER = 1/1-1/2+1/3-1/4+. . ..

class Exam0402 {
public static void main(String[] args) {

int n = 1000; // 5ALHZIEEE n. AT

double ans = 0; // & x DM }
int sign = 1; // %5/, fFoD5257137 077 AR IELSENTFIZO,

for (int k =1; k<=n ; k+t+ ) {
ans += (double)sign * 1.0/(double)k ;
sign *= -1;

ks

// FERDFIR
System.out.printIn( "log(x+1)® x=1 (2 F DEEERE" + n + "HETOf= "
ans );

System.out.printIn( "#zZEX " + (double)( ans - Math.log(2.0) ) );



